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SECTION A

Answer all the questions 1n Section A on the mark-reading sheet Please complete the mark-
reading sheet as indicated on the tnstruction form
The unique number 1s 478727.

Which of the following structures will be most conducive to an mnovative environment?

Mechanistic
Bureaucratic
Crganic
Autocratic

W R

An organisation’s culture 1s defined by several prnmary charactenstics The characteristics that
are demonstrated by activities that emphasises maintaining the status que versus growing
exemplifies which primary characternstic?

Attention to detaul
Qutcome orientation
People onentation
Stahility

FRN RN

essentially argues that extrinsic rewards such as pay and other compensation can
actually decrease motivation when these rewards replace instrinsic rewards which the individual
obtains from doing interesting tasks

1 ERG theory

2 Remnforcement theory

3 Seif-efficacy theory

4 Cognitive evaluation theory

The argarisation 1s in sharp contrast to the typical bureaucracy that has many vertical
levels of management and where control 1s sought through ownership

1 virtual

2 team

3 boundaryless

4 matrix

A popular approach to managing change, which involves examining both how to increase
individual behaviours that supports the change effort and how to decrease anything that hinders
movement away from the existing equilibrium, 1s known as

1 action research

2 organisational development
3 Lewin’s three-stage model

4 fundamental attribution error

According to Herzberg, factors that lead to job satisfaction are

related to hygiene factors oniy

related to motivation factors only

a combination of both hyg:ene and motivation factors

separate and distinct from those that relate to job dissatisfaction

SN RN
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Equity theory 1s a
1 method of remuneration that 1s aligned with employment equity
2 philosophy of rewards that advocates equal pay for equal work
3 consideration of both hygiene and motivational factors
4 theory that relates to job satisfaction
‘Storming” 18
1 the first stage of group development
2 a rushed approach to team decision-making
3 the second stage of group development
4 a process in creative thinking
Cohesiveness refers to
1 the nature of relationships between individual group members
2 the degree to which members are attracted to each other and are motivated fo stay in the
group
3 the tendency of certain people In the group to stick together to the exclusion of others
4 none of the above

What defines a work team as opposed to a work graup?

1 Work group and work teams perform different types of work
2 Only specialist people work in work teams

3 The existence of positive synergy

4 Work groups and work teams are the same thing

In resolving conflict where both sides agree to give something up, neither party wins or loses This
15 called

1 accommodating
2 cellaborating

3 compromising

4 completing

What 1s considered the most important dimension of trust?

1 Consistency
2 Competence
3 Honesty
4 tntegnty

The age of a worker seems to have a direct correlation with

productivity
turnover
absenteeism
none of the above

E SRSV N
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For both the individual and the orgarisation, the best strategy in managing job dissatisfaction 1s

exit
loyalty
negiect
voice

WM

Which of the following 1s not an advantage of wide spans of control?

Reduced costs because of fewer management levels
The opportunity to closely supervise employees’ work
Employee autonomy and empowerment

Faster decision-making

E-N S I LS

A boundaryless organisation

1 would probably have an organic structure

2 is sometimes referred to as a T-form organisation
3 relies heavily on technology

4 all of the above

Which one of the following 1s not a function of culture?

1 it creates distinctions between organisations

2 It provides the social glue that binds the organisation to appropriate standards
3 it promotes high levels of performance

4 It facilitates commitment to something larger than individual self-nterest

Action research 1s

1 a process of change

2 a type of research design

3 a process that involves the collection and analysis of data
4 al' of the above

In contrasting values and attitudes, which one of the following 1s true?

1 They come from different sources

2 There 1s no signtficant correlation between the two
3 Attitudes are more stable than values

4 Values are more stabie than attitudes

The discipline which brings the tools for measuring, explaining, and sometimes modifying human
behaviour to the study of organisational behaviour 1s

pofttical science
psychology
sgciology
anthropology

W N
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Peter notices that sales professionals at other companies get a higher basic salary and a higher
commission rate than he does, even though they do not work as hard or sell as much  According
to equity theory, what type of referent comparnsen is Peter using?

Self-inside
Self-outside
Other-outside
QOutside-outside

B

The best predictor of turnover 1s

1 job satisfaction

2 personality

3 organisational commitment

4 values

When one person inaccurately perceives a second person and the resulling expectations cause
the second person to behave in ways that are consistent with the onginal perception, has
occurred

1 stereotyping

2 a self-fulfiling prophecy

3 a self-serving bias

4 attribution theory

Which one of the following 1s not a factor that influences perception?

1 Target

2 Society

3 Perceiver
4 Situation

When employees are fully informed about a change effort, they have participated in making the
decisions but therr anxiety level i1s lugh, and time 1s not cntical, an excellent tactic for overcoming
resistance to change and reducing anxiety 1s

education and communication
faciitation and support
negotiation

manipulation and cooperation

BWN =

TOTAL SECTION A [25]
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SECTION B

CASE STUDY
Read the following case study carefully and answer the questions that follow.

Rumours started doing the rounds in a computer company that develops software for industry These
rumours imply that the company plans to do its own marketing and to implement 1its products for chents
itself in order to become more competitive These rumours resulted 1n a drastic increase in conflict
between employees, and a decrease in productivity

Management heard the rumours and a representative committee was formed in an attempt to deal with
the conflict, to improve relationships and to set the employees’ minds at ease by pointing out that only a
preliminary investigation has been undertaken thus far During a meeting of this commuttee, management
also mentions that if these developments did indeed happen, it would expect its employees to fulfill this
additional function, but that they would be notfied 1n good time and would be remunerated if the company
were to become more profitable [t also expressed its concern about the possibiity of specialists leaving
the company as they are sought-after by other computer companies Durning the meeting, managerment
was also blamed for withholding information from the employees, who state that they no longer trust the
company, that any form of change will affect them negatively and that, as a result of management’s
behaviour, they no longer experience any job satisfaction It 1s not acceptable for them just to be informed
of such a decision

QUESTIONS

1 Explain the employee’s possible reactions to their expenence of job dissatisfaction (8)

2 What suggestions would you offer management to rectify the trust relationship with its employees?(7)

3 If management decides to proceed with its plans, descnbe how Kurt Lewin's model can be used to
manage the change (6)

4 Give a balanced view of the possible value of resistance to change and identify two sources of
resistance that possibly influence the attitude of individual employees toward management (4)

Total Section B: {25]
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SECTIONC

ANSWER ANY QNE OF THE FOLLOWING TWO QUESTIONS

Give a brief description of an attitude and explain the relationship between attitudes and behaviour
by discussing the four moderating variables Use your own examples in explaining the influence of
the moderating varables {10)

OR
Groups develop through a standard sequence of five stages Name and discuss these five stages
in group development (10)
ANSWER ANY ONE OF THE FOLLOWING TWO QUESTIONS

“Trait theories on leadership are outdated and no longer serve any purpose” Cntically evaluate this
statement with specific reference to the most recent approaches to leadership {15)

OR
You are requested to investigate the structure of a section in a company department The manager
complains that he finds it difficult to manage the number of employees under his supervision

Discuss the six elements you need to consider when investigating the structure of this department
{15}

Sub-Total [25]

TOTAL [75]
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